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TEST 1
Simulated Testing Paper of College English, Band Four
Part I Listening Comprehension (30 minutes)
Section 1
Directions: In this section you will hear 10 conversations. At the end o
each corwersation , a question will be asked about what was
said . Both the corwersation and the question will be spoken
only once. Afier each question there will be a pause. During
the pause, you must read the four suggested answers marked
A), B), C) and D), and decide which is the best answer .

1. A) Cold. B) Dark and cloudy.
C) Foggy. D) Fine and sunny.
2. A) Go dancing. B) Stay at home.
C) Watch TV. D) Study at home.

3. A) He has no time to practice his English.
B) He has no friends with whom to practice English.
C) He doesn’t attend English classes regularly.
D) He is very slow.

4, A) Walking. B) Working.
C) Reading. D) Painting.
5. A) 11:15. B) 11:30.
C) 11:40. D) 11:45.
6. A) In the country. B) In a city.
C) Near a spring. D) Near his office.

7. A) Because she missed the man.
B) Because she felt sleepy.
C) Because she would leave the following day.
D) Because she didn’t enjoy the dinner.



8. A) A movie ticket. B) A football game ticket.

C) A train ticket. D) A timetable.
9. A) London. B) Paris.
C) Geneva. D) Rome.
10. A) Picking tomatoes. B) Growing potatoes .

C) The survival of the plants. D) The rainfall.

Section 2
Directions : In this section , you will hear 3 passages. At the end of each
passage, you will hear some questions. Both the passage
and the questions will be spoken only once. After you hear a
question, you must choose the best answer from the four
choices marked A), B), C) and D).
Passage One
11. A) One thousand.
B) Fifty percent of all fatal accidents.
C) About five thousand.
D) Two thousand.
12. A) Three days in prison and a thirty-dollar fine.
B) Six days in prison and a thirty-dollar fine .
C) Thirty days in prison and thirty days without his driver’s license.
D) Three days in prison and thirty days without his driver’s license.
13. A) Three days. B) Thirty days.
C) Sixty days. D) Six months.
14. A) If you drink, don’t drive.
B) If you drive, drive carefully.
C) ¥ you drink, drive slowly.
D) If you drink, don’t invite your friend to ride with you.



Passage Two

15. A) Stuffed grape leaves. B) Hamburger.
C) Steak. D) Beef.
16. A) Salt and chili. B) Chili and tomato jam.
C) Pepper and tomato jam. D) Garlic and salt.
17. A) Teenagers. B) Americans.
C) Doctors. D) Nutritionists.
18. A) Americans eat too many vegetables .
B) Americans should eat more beefs.
C) Fatty beef is good for us.
D) Americans eat too much beefs.
Passage Three
19. A) To make dough.
B) To mix yeast with sugar and water.
C) To leave dough to rise.
D) To press the risen dough again.
20. A) How the Bread Is Made.

B) Bread Is Made of Yeast, Sugar, Water, Salt and Fat.
C) The Importance of Bread.
D) The Dough Is Not Left to Rise in Some Countries.

Section 3  Spot Dictation
Directions: In this section, you will hear a passage of about 120 words

three times. The passage is printed on your Answer Sheet with

about 50 words missing . First, you will hear the whole pas-

sage from the beginning to the end just to get a general idea

of it. Then, in the second reading , you will hear a signal

indicating the beginning of a pause after each sentence,
3



sometimes two sentences or just part of a sentence . During the
pause , you must write down the missing words you have just
heard in the corresponding space on the Answer Sheet. There
is also a different signal indicating the end of a pause. When
you hear this signal , you must get ready for what comes next
from the recording. You can check what you have written
when the passage is read to you once again withous the paus-
es.
Culture is a set of rules or standards in a society that (21)
_that falls within a range of variance the members of a society con-

sider (22) . Culwre is a set of shared ideals , values,
and (23) . It cannot exist without society, a group of
people (24) a specific locality who are (25)

for survival . Culture cannot exist without society, although one can have
society without culture. (26) there is some difference be-
tween (27) , age variation and even subcultural variation

in some cultures. A subculture is a group that shares certain (28)
___ of the larger culture, while observing a set of rules that is (29)

_different from the standards. They (30) a
number of groups operating under different sets of rules.

Section 4 Compound Dictation

Directions: In this section, you will hear a passage three times. When
the passage is read for the first time , you should listen care-
Sully for its general idea. Then listen to the passage again.
When the passage is read for the second time, you are re-
quired to fill in the blanks with the exact words you have just
heard . For blanks numbered from S1 to 83 you are required



to fill in the missing information. You can either use the ex-
act words you have just heard or write down the main points in
your own words. Finally , when the passage is read for the
third time , you should check what you have written .
The use of the (31) car is becoming more and more (32)
in the (33) century. Asan (34)
___ number of countries (35) both (36)
and (37) , 50 a large (38) of the world’ s
(39) is able to buy and use a car. (40)
a car gives a much greater degree of mobility, enabling the driver to move
around freely. (S1)

. He can choose
from a variety of jobs and probably changes his work more frequently as he
is not restricted to a choice within a small areas. (S2)

. There is no irritation caused by waiting for trains, buses or
underground trains, or standing in a long queues, for as long as half an
hour sometimes. For the first time in this century also, (S3)

. This feeling of independence, and the freedom to go
_ where you please, is perhaps the greatest advantage of the car.

Part I Reading Comprehension (55 minutes)

Section 1

Directions: There are four reading passages in this part. Each passage is
Jollowed by some questions. For each question there are four
suggested answers marked A),B), C) and D). You should
decide on the best choice.



Questions 41 to 45 are based on the following passage:

The American economic system is organized around a basically pri-
vate-enterprise , market-oriented economy in which consumers largely de-
termine what shall be produced by spending their money in the market
place for those foods and services that they want most. Private business-
men, striving to make profits, produce these goods and services in com-
petition with other businessmen; and the profit motive, operating under
competitive pressure, largely determines how these goods and services are
produced . Thus, in the American economic system it is the demand of
individual consumers, coupled with the desire of businessmen to maximize
profits and the desire of individuals to maximize their incomes, that to-
gether determine what shall be produced and how resources are used to
produced it.

An important factor in a market-oriented economy is the mechanism
by which consumers’ demands can be expressed and responded to by pro-
ducers. (116)In the American economy, this mechanism is provided by a

price system, a process in which price rises and falls in response to rela-
tive demands of consumers and supplies offered by seller-producers. If the
product is iu short supply relative to the demand, the price will be bid up
and some consumers will be eliminated from the market. If, on the other
hand, producing more of a commodity results in reducing its cost, this
will tend to increase the supply offered by the seller-producers, which in

tum will lower the price and permit more consumers to buy the product.
Thus, price is the regulating mechanism in the American economic sys-
tem.

The important factor in a private-enterprise economy is that individu-
als are allowed to own productive resourees(private property), and they

are permitted to hire labor, gain control over natural resources, and pro-
6



duce goods and services for sale at a profit. In the American economy,
the concept of private property embraces not only the ownership of produc-
tive resources but also certain rights, including the right to determine the
price of a product or to make a free contract with another private individu-
al.
41. According to the passage, a private-enterprise economy is character-

ized by

A) Private property and rights concerned

B) manpower and natural resources control

C) ownership of productive resources

D) free contract and prices
42 . This passage is mainly about .

A) how American consumers buy their goods

B) how American economic system works

C) how American businessmen make their profits

D) how American goods are produced
43. The “market-oriented economy” means :

A) an economy with market development as the main objective

B) an economy of market

C) an economy for consumers only

D) an economic system for making profits
44 . The crucial factors determining the production of goods and the uti-

lization of resources are .

A) the demand of individual consumers

B) the desire of businessmen to maximize profits and the desire of in-

dividual to maximize their incomes

C) relative demands of consumers and supplies offered by seller-pro-

ducers



D) Both A and B

45. In the second sentence of paragraph 3 , the word “embrace” most
probably means .
A) include B) produce C) denote D) maintain

Questions 46 to 50 are based on the following passage:

Ironically, in the United States , a country of immigrants, prejudice
and discrimination (3% ¥ ) continue to be a serious problem. There was
often tension between each established group of immigrants and each suc-
ceeding group. As each group became more financially successful, and
more powerful ; they excluded newcomers from full participation in the so-
ciety. Prejudice and discrimination are part of American history; howev-
er, this prejudicial treatment of different groups is nowhere more unjust
than with black Americans.

Blacks had distinct disadvantages. For the most part, they came to
the “land of opportunity”as slaves and they were not free to keep their
heritage (47X 1) and cultural traditions. Unlike most European immi-
grants, blacks did not have the protection of a support group; sometimes
slave owners separated members of the same family. They should not mix
easily with the established society either because of their skin color.
(117) 1t was difficult for them to adapt to the American culture. Even af-
ter they became free people, they still experienced discrimination in em-
ployment, housing and education .

Until the twentieth century, the majority of the black population
lived in the southem part of the United Stated. Then there was a popula-
tion shift to the large cities in the North. Prejudice against blacks is often

associated with the South. Slavery was more common there and discrimi-

nation was usually much easier to see.
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In the 1950s and 1960s , blacks fought to gain fair treatment, and

they now have legal protection in housing, education, and employment,
Because their neighborhoods are segregated (B B§), many blacks feel
that educational opportunities are not adequate for their children. Busing
(AR % #3% ) children from one neighborhood to another is one solution
to inequality in education. Naturally, all parents want the best possible e-
ducation for their children.

The situation of blacks is better today than it was in the 1950s , but

racial tension persists. Time will be the real solution to the problem of

race.

46. What is the main subject of the passage?

47.

A) Prejudice and discrimination in the United States .

B) Education in the United States.

C) Prejudice against American blacks.

D) Unemployment in the United States.

When a group of immigrants became strong in its economy, they were
likely to

A) prevent new settlers from being greatly involved in social activities
B) show prejudice and discrimination against newcomers

C) fight with the natives to gain more land

D) fight among themselves to establish a more dominating role

. According to the passage , which of the following is NOT TRUE?

A) Blacks in the United States were among those who were worst dis-
criminated .
B) Prejudice and discrimination are part of the United States.
C) It was not easy for blacks to get accustomed to the American cul-
ture.
D) The problem of prejudice and discrimination in the United States
9



